Example:

(4 - Digit Number)

3000 + 400 + O + |

5000 + 100 + 90 + 7

=3 40l =5 197
. 1000 + 200 + 3 . 4000 + + 20 + 2
= = 4322
2. 2000 + 4 2+ 0600+ 4
= = 204
3. 2000 + 300 + O + 5 3. 3000 +  +1
- = 320l
4. 4000 + 300 + 90 + @ 4. 4000 +__
= = 4400
5. 4000 + 800 + 7T0 + 5 5. OO0 +
= = 030
G. OO0 + 900 + 20 . + 4
= = 7004
7. 7000 + 30 7. 7000 + 900 + 90 +______
- = 7995
8. 7000 + 4 8. 4000 + 500 +
= = 4503
9. 9000 + 5 2. + GO
- = 3060
I0. 2000 + GO 0. GOOO + 300 +
= = 6340
. 9000 + 30 + 7 . 9000 + + 5
= = 9045
2. 9000 + OO + 80 + 7 2. 9000 +
- = 9300
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1000 + 200 + 3

ANSWER KEYS

. 4000 + 300 + 20 + 2

203 = 43272

2000 + 4 2. 2000 + GOO + 4
2004 = 2604

2000 + 300 + O + 5 3. 3000 + 200 + |
2305 = 320l

4000 + 300 + 90 + G 4 4000 + 400
4390 = 4400

4000 + 800 + 70 + 5 5. 000 +30
4875 = 030

000 + 900 + 20 G. Z000 + 4
©920 = 7004

7000 + 30 7. 7000 + 900 + 90 +_ 5
7030 = 7995

7000 + 4 8 4000 + 500 +_3
7004 = 4503

9000 + 5 2. 3000 + O
2005 = 3060

2000 + O 0. OO0 + 300 +_—_40
2060 = 6340

9000 + 30 + 7

. 9000 +_40 + 5

2037 = 9045
2000 + OO + 80O + 7 2. 9000 +386-
2687 = 9300
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Example: (4 - Digit Number )

3000 + 400 + O + | 5000 + 100 + 90 + 7
=3 40l =5 197

. 7000 + 300 + O + 5 I 4+ 300+ 060 +5

- = T35

2. 8000 + 400 + @ 2. + 400 70 + 8

= = 4478

3. 9000 + OO + 30 + 7 3. 8000+ = + 4

= = 8904

4. 1000 + 40 + 3 4. 4000 + 900 +

= = 4930

5. 8000 + 4 5. 3000 + 800 + + |

- = 380l

G. 3000 + 200 + 5 . 7000 + 200 +

- = 7205

7. 4000 + 200 + 50 7. 4000 + 900 +

= = 4909

8. 5000 + 400 + 20 8. 8000 + 30 +

- = 8039

9. 5000 + 90 + 3 9. 4000 + + |

= = 430

I0. OO0 + 70 I0. 7000 +

= = 7300

. 7000 + 300 . 7000 + 900 +

- = 7920

2. 7000 + 40 + 3 2. + 30 + 5

- = 9035
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7000 + 300 + GO + 5
73065

8000 + 400 + ©
8406

92000 + OO + 30 + 7
2637

1000 + 40 + 3

1043

8000 + 4

8004

3000 + 200 + 5
3205

4000 + 200 + 50
4250

5000 + 400 + 90
5490

5000 + 90 + 3

5093
000 + 70
O70

7000 + 300
7300

7000 + 40 + 3

7043
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7000 + 300 + O + 5

I
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73065

4000 + 400 70 + 8
4478

8000 + 900 + 4
8904

4000 + 900 + 30
4930

3000 + 800 + GO + 1
380l

7000 + 200 +_5
7205

4000 + 900 +_9
4909

8000 + 30 +_9___
8039

4000 + 200 + |
430

7000 +=200-
7300

7000 + 900 +—20—
7920

2000+ 30+ 5
2035
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Example: (5 - Digit Number )

10000 + 9000 + 200 + 50 + ©
= 19 250

50000 + 4000 + 800 + 20 + 9
=54 829

. Z0000 + 300 + 70 + |

2. 10000 + 5000 + OO + 20 + 5

3. 10000 + 8000 + 900 + 2

\

4. 10000 + 300 + 50 + 4

\

5. 40000 + O + 3

\

&

20000 + 300 + 20 + 5

\

~

20000 + 7000 + 800 + 30 + 5

\

8. 70000 + OOO + 30

\

9. BOOOO + 4000 + 4

10. BOOOO + 700 + 5

Il. 90000 + 1000 + 8

2. 70000 + 8000 + 100

Ao

+ 8000 + 40

2. +30+5

; 10000 + 9000 +  + 4

; 20000 + 3000 + OO +  + 4
; 70000 + OO +___

\

\

7.

\

®

\

(@]

2. BOOOO + 3000 + 700 + 20 +

. 10000 +

. 40000 + 1000 +

80000 + + 5

10000 + + 900 + 70 + G©

+ 4000 + 900 +90 + 7

. 20000 + 4000 + 40 +

+ 5




ANSWER KEYS

. 20000 + 300 + 70 + |

= 20 37l

2. 10000 + 5000 + OO + 20 + 5
= 15 625

3. 10000 + 8000 + 900 + 2

18 902

\

4. 10000 + 300 + 50 + 4
10 35 4

\

5. 40000 + O + 3
40 0OG3

\

)

20000 + 300 + 20 + 5

\

90 325

~

20000 + 7000 + 800 + 30 + 5

27 835

\

8. 70000 + OOO + 30

\

76 030

9. BOOOO + 4000 + 4
= 84 004

10. 8BOOOO + 700 + 5

= 80 705

Il. 90000 + 1000 + 8

= 91 008

2. 70000 + 8000 + 100
= 78 100
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IOO00O+ 8OOO + 40
15 040

. 90000 + 30 + 5

20 O35
I0O000 + 9000 + 300 + 4
9 305

. 20000 + 3000 + OO + 40 + 4

23 044

. 70000 + OO +_O

70 GO

. 80000 +_ 400 + 5

80 405
10000 + 9000 + 900 + 70 + G
19 976G

10000 + 4000 + 900 +90 + 7
14 997
10000 +_ 00

IO GOO

0. 20000 + 4000 + 40 +_1____

\!

\

2.

24 04l

. 40000 + 1000 +~—=20—+ 5

4| O35
80000 + 3000 + 700 + 20 +—L——

83 720
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Example: (5 - Digit Number )

I0OO00 + 9000 + 200 + 50 + © 50000 + 4000 + 800 + 20 + 9
= 19 250 =54 829

. 40000 + 300 + GO . 20000 +  + GO+ 5

= = 23 005

2. 50000 + 3000 + 900 + 20 + 8 2. 10000 +  + 40 +|

= = 14 O4l

3. 80000 + 2000 + OO + 70 + 7 3.10000 + 9000 +  + 30+ G

= =19 230

4. 70000 + 3000 + 4 4. 30000 + 4000 + 400 +  + 9
= = 34 499

5. 30000 + 800 + | 5. 20000 +_______+ 3

= = 20053

G. 10000 + 4 G©. 10000 + 4000 +________

= = 14 300

7. 10000 + OO + 30 + 9 7. 10000 + 92000 + 900 +70 +__
= =19 976G

8. 90000 + 3000 8. 20000 + 5000 +

= = 25 004

9. 90000 + 4000 + 5 2. + G

= = 20006

IO. 10000 + 2000 + 200 + 90 + 4 10. + 200

= = 20 200

I. 30000 + 2000 + OO

. 40000 + 3000 + OO + 30 +

\

43 639
2. 20000 + 9000 + 200 + GO + 5 2. 90000 + 3000 + 400 + GO +

= = 93 403
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ANSWER KEYS

. 40000 + 300 + GO l. 20000 + 3000 + O + &5

= 40 3060 23 0G5

\

2. 50000 + 3000 + 900 + 20 + 8 2. 10000 + 4000 + 40 + |

= 53 928 14 O4l

\

3. B0OOOO + 2000 + OO + 70 + 7 3. 10000 + 9000 + 200 + 30 + @

= 82 77 =19 230

4. 70000 + 3000 + 4 4. 30000 + 4000 + 400 + 90 + 9
= 73 004 = 34 499

5. 30000 + 800 + | 5. 20000 +_50 + 3

= 30 80l = 20053

G. 10000 + 4 G©. 10000 + 4000 + 300

= 10 004 = 14 300

7. 10000 + OO + 30 + 9 7. 10000 + 9000 + 900 +70 +_ &
= 10 &39 =19 976G

8. 90000 + 3000 8. 20000 + 5000 +_4

= 93 000 = 25 004

9. 90000 + 4000 + 5 9. 20000 + &

= 94 005 = 20000

0. 10000 + 9000 + 200 + 90 + 4 0. 20000 + 200

= 9 294 20 200

\

I. 30000 + 2000 + OO

. 40000 + 3000 + OO + 30 +—_9

\

= 32 OO 43 639
2. 20000 + 9000 + 200 + GO + 5 2. 90000 + 3000 + 400 + GO +—3—

= 29 205 = 93 403
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